
 

GRADE   X          MATHEMATICS    TEST             30   marks      1hr  
 

1   Find   the   zeroes   of   the   polynomial   x 2    +   ⅙   x   –   2,   and   verify   the   relation   between   the  

coefficients   and   the   zeroes   of   the   polynomial.  

2  

2   Can   the   number   6n   ,   n   being   a   natural   number,   end   with   the   digit   5?   Give   reasons.   2  

3   If   sinθ   –   cosθ   =   0,   then   the   value   of   (sin 4 θ   +   cos 4 θ)   is   2  

4   Prove   that   √3   +   √5    is   irrational.   3  

5   Out   of   the   two   concentric   circles,   the   radius   of   the   outer   circle   is   5   cm   and   the   chord   AC   of  

length   8   cm   is   a   tangent   to   the   inner   circle.   Find   the   radius   of   the   inner   circle.  

3  

6   The   hypotenuse   of   a   right   triangle   is   25   cm   and   out   of   the   remaining   two   sides,   one   is  

longer   than   the   other   by   5   cm.   Find   the   lengths   of   the   other   two   sides.  

3  

7   An   integer   is   chosen   between   0   and   100.   What   is   the   probability   that   it   is   

(i)   divisible   by   7?                  (ii)   not   divisible   by   7?  

3  

8   A   shopkeeper   gives   books   on   rent   for   reading.   She   takes   a   fixed   charge   for   the   first   two  

days,   and   an   additional   charge   for   each   day   thereafter.   Latika   paid   Rs   22   for   a   book   kept   for  

six   days,   while   Anand   paid   Rs   16   for   the   book   kept   for   four   days.   Find   the   fixed   charges   and  

the   charge   for   each   extra   day.  

4  

9   Prove   that  

 

4  

10   An   aeroplane   leaves   an   Airport   and   flies   due   North   at   300   km/h.   At   the   same   time,   another  

aeroplane   leaves   the   same   Airport   and   flies   due   West   at   400   km/h.   How   far   apart   the   two  

aeroplanes   would   be   after   1½    hours?  

4  

 

 


